= il 0|8 et E=STA =B
1 2101 Zog 3101 sigels =2 A
2 2102 ok 3103 SILSRte=s M A X 2|
3 2103 Qo4 3201 MAX 2| Rty
4 2104 4oE 3405 = 2| QtALY X2
5 2105 Zoal 3406 2| AL Rty
6 2106 Zogl 3107 SILSRte=s M A X 2|
7 2107 Z0 3206 =2 AR Rty
8 2108 0% 3109 SILSRte=s M A X 2|
9 2109 w05 3408 MK et MA X 2|
10 2110 =0 3409 MAX| 2| X2
11 2111 207 3410 =2 AR Rty
12 2112 ghost 3411 MAX| 2| 2| A
13 2113 g0 3310 MAX 2| ESPSIeige
14 2114 Olo%t 3213 M A 2| 2| A
15 2115 olog! 3118 sigels 2| QFAFS
16 2116 olo&E 3416 ZSPNEel g M A X 2|
17 2117 ologl 3417 MK et 2| QFAFYS
18 2118 xod 3316 N A X[ 2| (SPSIeige
19 2119 Mot 3120 sigels 2| QFAFYS
20 2120 Mo 3420 ZSPNEel g = 2| A
21 2121 Mok 3421 MAX 2| 2| QFALS
22 2122 =20 3223 M AKX 2| (SPSIeige
23 2123 gox 3324 MAX 2| 2| QFAFYS
24 2124 Q0= 3115 SILSRte=s M A X 2|
25 2201 710 3202 =2 A M A AL
26 2202 0% 3204 Kt NI AH AL
27 2203 ZoE 3404 | QFARY YSPNEl g
28 2204 zo= 3303 = 2| QAL M AH AL
29 2205 Zost 3304 YSPSIel g | A
30 2206 o 3305 | QFARY NI AH AL
31 2207 Zo 3108 SILSRe=s | A
32 2208 005 3207 Kt M A X 2|
33 2209 g3 3209 MNA X[ 2| 2| QFALYS
34 2210 oo 3114 il =2 A
35 2211 Q02 3413 = | QtALY M A
36 2212 olotY 3415 = 2| tAL M AH AL
37 2213 olo2 3215 = | QtALY M A
38 2214 Hoz 3317 = 2| tAL M AH AL
39 2215 oM 3216 MK et M A AL
40 2216 Z0 3217 Xt =2 A
41 2217 Z0= 3422 = | QtARY M A




42 2218 ENIES 3318 YSPNIel g M A A
43 2219 0¥ 3218 K|t =2 A
44 2220 Z|oM 3122 SILSRte=s M A A
45 2221 zog 3319 Xt =2 A
46 2222 ES[o)ed 3123 CILSRte=s M A X 2|
47 2223 208 3224 MAX 2| Rty
48 2224 olog 3314 YSPNIel g M A A
49 2301 Zo%t 3301 =2 A NI A AL
50 2302 ikl 3104 SILSRte=s M AIAL
51 2303 Zo%t 3203 MK et NI A AL
52 2304 Z0 3306 ZSPNIel g 2| A
53 2305 20+ 3307 MK et 2| QFAFS
54 2306 ZotH 3407 ZSPNIel g 2| A
55 2307 Hodl 3308 =2 A Rty
56 2308 =03 3208 = 2| QtALY M A
57 2309 gt 3111 sigels NI A AL
58 2310 gho 3412 ZSPNIel g M A A
59 2311 Mozt 3210 MAX 2| 2| QFALYS
60 2312 =03 3312 = 2| QtALY M A AR
61 2313 Aol 3313 MK et M A AL
62 2314 2dog 3211 = 2| QtALY M A AR
63 2315 Olo2 3414 MAX 2| ZSPSIeige
64 2316 oloa 3214 M AKX 2| (SPSIeige
65 2317 oloz 3119 NS M A AL
66 2318 ol 3121 SILSRse=s M A X 2|
67 2319 Z07] 3320 =2 A Rty
68 2320 Z|oH 3321 = 2| QtAL NI AH AL
69 2321 XoE 3222 ZSPSpelgss | A
70 2322 o2 3322 | FARY Rt
71 2323 108 3124 N elZ M A X 2|
72 2324 =0 3423 | FARY NI AH AL
73 2401 ZoE 3401 2| QAL K| 2t
74 2402 202 3402 MAX 2| Rty
75 2403 Zoql 3102 NS M A K| 2|
76 2404 iniopsl 3105 sigels M A X 2|
77 2405 20 3403 YSPSIel g M A A
78 2406 203 3205 Xt =2 A
79 2407 402 3106 N elS MA X 2|
80 2408 =02 3309 Xt M AH AL
81 2409 =02 3110 N elS | A
82 2410 g0 3112 sigels M A X 2|
83 2411 HjoA4 3113 N RS M A K| 2|
84 2412 Hodl 3311 MAX 2| Rty




85 2413 3116 sigels M A X 2|
86 2414 3117 sigels M A X 2|
87 2415 3315 MAX 2| M A A
88 2417 3418 Xt M A X 2|
89 2418 3419 MAX 2| M A A
90 2420 3219 MAX 2| Rty
91 2421 3220 2| ALY X2
92 2422 3221 MAX 2| ESPSIelge
93 2423 3323 MAX 2| M A A
94 2424 3212 =2 pARA Rty
95 2501 3605 X|=+atst ot}
9 2502 3608 A4 ot st X|tatst
97 2503 3703 X|+otst ot}
98 2504 3609 X|Ftotst A & ofst
99 2505 3706 X|=tatst 4 F st
100 2506 3807 HEAS X|tatst
101 2507 3808 NS K|+ 2p=t
102 2508 3708 X|+apst otst
103 2509 0 3809 NS ofst
104 2510 ghoZ 3612 X|7+otst A & ufst
105 2511 0% 3812 SILSRse=s K|+ 2f=t
106 2512 505 3509 X|7+otst A & ufst
107 2513 AoH 3711 X|+atst 4 F dpst
108 2514 %o 3712 A Y p st X|tatst
109 2515 ool 3814 SILSRse=s K|+ 2f=t
110 2517 RUE 3616 A Y p st X|tatst
111 2518 704 3816 sigels ot}
112 2519 3818 SHEelS X|tatst
113 2520 3716 A4 ot st X|totst
114 2521 3517 A4 ot 5t X|tatst
115 2522 3521 X|=tarst 4 & utst
116 2523 3522 A oy pst X|tatst
117 2524 3825 sigels ot}
118 2525 3722 X|1tst A & tst
119 2526 S0 3525 X|+2fst 4 & utst
120 2601 702 3604 =2 A & tst
121 2602 ot 3802 sigels =]
122 2603 4o 3302 ZSPSjelgss | A
123 2604 Zos}t 3610 X| =t atst & ufst
124 2605 Z0o¥ 3504 =2 A & tst
125 2606 2oz 3505 X|+1tst =t
126 2607 Zoal 3806 sigels X|tatst
127 2608 Zoxy 3611 =2 & ufst




128 2609 2o 3613 =2 A o st
129 2610 Ao# 3813 sigels =t
130 2612 F04l 3511 =2 ofst
131 2613 {0 3713 =22 ot}
132 2614 olo 3619 X|+otst =t
133 2615 0|0 3817 sigels X|7+atst
134 2616 0EH 3518 X|+otst ofst
135 2617 2o 3718 A4 ot st =2
136 2618 0 3520 A pst ofst
137 2619 T oxH 3821 sigels =2
138 2620 Mozt 3719 =] ofst
139 2621 M0 3620 X|=+apst =2
140 2622 XtoE 3721 =22 4 F st
141 2623 £l 3623 A4 ot st otst
142 2624 =0 3624 =22 4 F st
143 2626 sto%t 3625 X|Ftotst =2
144 2627 0l0 3513 =] otk
145 2701 20 3603 =2 A pst
146 2702 =08 3801 SILSRse=s K|+ 2f=t
147 2703 202 3606 X|7+otst A & ufst
148 2704 Zdod 3702 =] K|+ 2f=t
149 2706 ZocH 3805 sigels X|tatst
150 2707 Loz 3707 A pst =t
151 2708 2077 3506 =2 A & ufst
152 2709 SRS 3810 SILSRse=s ofst
153 2710 203 3709 =2 A & ufst
154 2711 g 3508 A O p st ot}
155 2712 g0 3811 N elZ =
156 2713 20 3510 =2 4 & utst
157 2714 70% 3617 A4 o5 tst =t
158 2715 F07| 3618 X|+2fst 4 & utst
159 2716 olo=F 3514 =2 X|tatst
160 2717 olo& 3819 sigels ot}
161 2718 ologt 3515 A4 o5 tst otst
162 2719 oloz 3516 X|=+atst ot}
163 2720 ozt 3519 A4 o5 tst otst
164 2721 MoH 3822 sigels X|7tatst
165 2722 oz 3823 N elS =c|
166 2723 Z0% 3720 A o p sk X|7tatst
167 2724 Eolal 3524 A oy pst X|tatst
168 2725 %[0 3621 =2 ofst
169 2726 S0A 3724 A4 o5 tst =t
170 2801 Zofl 3601 X|+2tst =t




171 2802 3602 = ofst
172 2803 3501 A4 ot st ot}
173 2804 3701 X|=+atst ofst
174 2805 208l 3502 X|~tapst ot}
175 2806 Zo¢l 3803 SHEelS otst
176 2807 Zos 3607 A Y p st ot}
177 2808 zoE 3503 X|+otst ofst
178 2809 0% 3804 sigels X|tatst
179 2810 o4 3704 =] K|+ dfst
180 2811 zoz 3705 X|+atst otst
181 2812 SRS 3507 A4 & st K|+ dfst
182 2813 3614 A4 ot st X|tatst
183 2814 3615 A4 o it st K|+ dfst
184 2815 3710 X|+apst otst
185 2816 3815 HEAS K|+ dfst
186 2817 3714 A4 ot st X|tatst
187 2818 3715 X|=tatst 4 F Apst
188 2819 3512 X|Ftotst =2
189 2820 3820 NS K|+ 2f=t
190 2821 3717 =22 X|tatst
191 2822 3824 NS K|+ 2f=t
192 2823 3523 X|Ftotst =2
193 2824 3723 X|=tatst ot st
194 2825 3622 =22 ot}






